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Commutativity
Associative
Distributivity
Idempotency
Identity

Transitivity
Involution

Excluded Middle Law
Contradiction Law

DeMorgan’s Law

AUB=BUA

ANB=BnNA
AuUu(BUC)=(AuB)UC
ANn(BNnC)=ANnB)NC
AU(BNC)=(AUuB)N(AUC)
AN(BUC)=ANB)U(ANC)

AUA=A AnNnA=A

AUd=A AUX =X
ANdo=06 ANX=A

If ACBCC, then ACC

A=A
AUA =
ANA=¢
ANB=AUB
AUB=ANBAB
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Commutativity
Associative
Distributivity
Idempotency
Identity
Transitivity

Involution

DeMorgan’s Law
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AU(BUC)=(AuB)UC
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AUA=A AnA=A

AUd=A AUX=X
ANd=0 ANX=A4A
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A: fuzzy set

U:universe of discourse
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